qE: EREE quiish: Ro0
Qug: | WUSAH Uy SEvEq YITIh: RS afeRfaaTT:
®) | cifusa-sEaErey| | AT RO ATIGIH AT
i) eAfdersEr: Y5 x 4=2 2
i) e 1x1=1 1
iii) SAfaersr: Vs X 4=2 2
i) AfdeTeEr: Vs x 4=2
i) T 2 x2=4
iii) SAfaeTe: Vo x 4=2 2
W IRULERHEL 1x2=2 2 15
g) | EEeaE ] | 2 RERGLCEL:t IRERCICEER % x 10=5 5
FHATAETH IEERCIE G Y2 x 10=5 5
4 IGESCRELY IEEECIRCR 2x5=10 10
3rean
FTESTACTH IRERCI:C 2x5=10 20
) IUIHSATRIOH| 5 ESIECRIET | AfTeTe: 1x3=3 3
6 A/ faueetoM | SAfderER: 1x 4=4 4
7 YR : T 1x5=5 5
8 TGN : TR Y2 x 10=5 5
9 Bl LRk ST 1x3=3 3
10 | Sgg-dy TR 1 x 4=4 4
11 qEAEY: T Vo x 4=2 2
12 | <SS TR 1x4=4 4 30
) ufsa-saeiemy | 13 | TEN-UEiY i) eAfersm: 2
BIERINGEZCICH i) eTee: 1x3 15 | 15
i) SAfaersr: 2
14 araefae: LS (1x3)x2=6
15 ST : TR (V2 x 3) x 2=3
16 | weAtmiUEEE- | e 1x4=4
AT
17 | ERARHEESA IEEECIRCR V2 x 8=4 4
18 | vrsRreaEry: afaeTsER: 1x 3=3 35
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HAT-SITHT
Mafy : TREEH

Time allowed : 3 hours

fraifa wwa : 3 @ue
Gug ‘' ;UG- STeEIETH/SASAIY STeEE

Section A: Unseen Reading Comprehension

Que ‘@' : TS - /TS hd
Section B : Writing Skills

@ug ‘T’ : FATIYKI-SAThLITH/STIIIHR AR
Section C : Applied Grammar

Gue ‘Y’ ; gfgd-AgayTH/afSd- SATaET
Section D : Reading Comprehension

149

JUTTZT: 100
Maximum Marks: 100
31féreRaw 31k 100

15 AI:

20 AT

30 Agl:

35 Agl:



Instructions:

1.

AT I =@ @uel: |i|
™ YT § IR GUE T

The question paper has four sections.

Jich @USH YR ST TR T SHH0 crE- T |

Y WEUS o I Ueh B S8 W A ¥ faes il
The answers to each section must be written at one place.

gfaEuer I gefeh Y™ STGRAeh Al @ |

ek @US oh SR Y TS SRyfeaeRt o & ferad €

The answers have to be written in a separate answer sheet.

U ST T G|

TS W I A T
Don't write answers in the question paper.

TITHEA ARTHAITHIRH HAIHA I =T |

JYIS oF STIHR YIEEA e & faeH gri
Please write the question no. according to the question paper.

AWl YYAAM A FEhad @l

[t gl oF I F&Ra H fafau)
Answer all the questions in Sanskrit.
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©usg : <h Section A 15 argT:

AUfSAIIT-ATqaTeA Y ( AATSATIT-TTETE )
Unseen Reading Comprehension
TH. PEE)
1. | orEfaiEd-3T ssegd Ufedl YEauyAr Ugeh-Uaram SRR STl -

frAfafad 31 sTI=sal &l 9gahY QU TT Yo oF S gueh &t T8 STRYRAHRT H
fafaa -

Read the following two passages and answer the questions in the given answer
sheet.

o ITTe:
I A A FASE e A | 7 had dgyeeed ifug fovas ufag: ofa:l sma
forfaray ‘Tiarssifar: ' gfd swfadaraeme: sifaufasg:| st Swfadeaee® Fd 1@ Hforw:

3y W5 Tl AergEusd fovavrdiames foavafomreay s1fy sreeraaq) wagemon
Qe SR WRAY(H: oeqd: = Tl

QIHT:

THUEA Yox2

Th 5 H IW Y
Answer in one word only.

(i) HfaErs: F& Y=9E Hfa:?
(ii) ‘Trarsstter:’ o forfaan?
uiaTeRM 3TA 1x2

qui o H I ST
Answer in complete sentence.

(i) 1 TEQ: ¥ TE?

(ii) hfowet=: foraef TIAIERR qraqar?

Trdomany A Yoxd
fder & oTaR S fod

Do as directed

(i) ‘wraer sfa foramiee wquen sTI=een T forem
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(ii) ‘wfoaeE: Afdufas:’ & foRmog fwe?
(i) eTufag:’ =fd uee foudiaredss ugyq st=e]r fomn fowad
(iv) ‘Tenfdar seet Tgeee fo o ggw?

feeita: 3‘1@?{:

SHAMY ST T AGYEH o 9iehedd| o FHSiiaday Sreieht: Jfe:
SNEYT G AIIE Fga HRA, T3 T THAH ST TANH, SR o STEUME
sgaf, ‘sifafacel wa' sfd IRAFUUIU T qradf-<l AfA0T: ehree gid
foretftardT: waf<, Wormg =d 9% q STIERTTeeht AT g foshiai ¥ T &g
AT 7R oA ThaR S, TEaH S |fd dwm e A = 1 sm 5 A
IO STEaorT q faeiod: Tae e eeiata a9 el gHedl: A waf|
T, THY SFHAY AT HEcl WISl ol SR T TRofid 21q W
geleTd: SRl |

I

TehUe~ STd Yox4
T I 4 I fafaw
Answer in one word only.

(i) =07 o gfd faerfadn: qef<?

(i) <TeTehT: AMASI: TR HY HRA?

(iii) T TR ?

(iv) IO STEaROTHI &eT: i Jeeiaf-a?

JuiameRs 3a3d 2x2

qof a1 § I fafed
Answer in a complete sentence.

(i) SHAMY =eteht: fh T=rep aitdmert-<i?

(i) =TeThT 7 TR ada?

Trdomany T Yoxd
1S9 & SIUR S| 3

Do as directed

(i) ‘weegEesy 3 use gumeds ugq sreser faen foredl

10
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Y o] k1 HHfud wfive fafeu)

Write a suitable title for this passage.

PR oo
(ii) ‘foarfiaran: waf<1' s/ waf< 3fd foramiee sdusd srg=eerd fawen foed
(iii)  waTerdt vfroram’ e forooms feh?
(iv) ' ARETEHA 3fa aee faudianeles use sTes]n fawn forem
IV | T STIoees &d Syfad viteh foad|
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Section B 20 ITgT:

TEATS SR

TOATHE T
Writing Skill
H. oo
3. | WA YU @i qu ayutaia: 9y gemasnr faafag fafed o

HSSETEl WETUS: YEd 15x10
T Jordl 1 79 Fs o= b1 ugl-ufer o Wi i SAeER gq A1 i gy fafad
T3 1 Wl H fIU 7T g o Hiemw | gl |

You are Pranav. Fill in the blanks with the help of given words for this letter, written to
your friend Vasant requesting him not to indulge in cruelty towards birds and animals.

10/28 SEYTFRA
[
AT e
11252 = (1) OO
ey T |
o1 faafad 9= SerHe b IH ] T (i), ISTH 3TdTe TH: I o
STftehehIe-TaNIE SfETARTEaE T (iv).....ovcvceee G| HH Blfach aeiod ey
TR HEHG 7Y Teh o T o e : Tone auehsa: (V)..oovverereeees Siraty
F: g 9 TdoA:| & foaRa e adq: uypufafa: & SR d:? T g ged
1o P (V) FORR AR T T, TUhs oA, Y (Vii).ovoreeeveeene.
HUIAMHT IS, GO AR fas=s &g 79 7 AA=afd| Ik §6 wrﬁw%r
gy Taw oy SRR afE T G (Vi) AT Afasaf=<q| o7d: Ho=n 79
FeiE st=ren = TR S1fhg 1 fowl femafodes) TR we: aumray sifvar)
I (4 T, s
L S

qYafes:, ST, T, TSELYRSI:, TR0, JoTdl:, Hel, TN, a9,
SENICIRIEe]
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HYTATTY,
VSIS G HETEN STeia Tl YT STIUT STRYfaehral fo@ar ¥4x10

o # U T v’} &1 FRal § = 3 T8 THHAT Rl TP ST H had]
I fad

Fill in the blanks in the following story and write the answers only in the answer sheet
with the help of given words.

THET SATHTITETON AT I gsaauifor Iaradq aofl 7 wfgsafal =g
(D)oo foraferar: Sr:| st for shref s STRIeRT: T B (ii)....ovovee.. -
WEIT: G : Fch: 1 TR TR Ueh: ek TS el Ufdfed st hafa @
S (1) IR ohol-q gl HEMTCAT T BRI AT A~ 1{@" & @
[37) FTTTTTTRo, T ganl I ot wH T AT (V). <q a1 formef gen
gH KA Fqam: Foh: ofeRd - @l A, T sehrmervaiied:; ®E g w
LGECRERRIEC AT L I (V) el : | 1l = A R qfe STereaan
Toregfaa@m=a (Vii)......coooevevenee, q TRl TATEH: AfosY a8 FEEEEn:
[(VL1T) Y 7 Y=g T Aol Tehd| HERS Tl A G (iX). oo

sTfe=raq I 9q Ueuady auv oAy . ? 3fq fomamd @ dearoe Sy

STITH 3T : TR I Aq AT FIRHTM (X).ovovovreecere. w@fafd: e
HosTuT

shTet:, Tarwaforcan, wermmet, wios, udl, aui:, uehl:, STRIET, h1afe, qoaesiio|

Y TN oo ST Hos[Ul TS EREqdl Foaeared Sty fa@d  2x5
I fed T fod W suiRa oiw 9o U8T USRSt WerEdl § Heha W # fafau)

Describe the following picture in five sanskrit sentences with the help of words given
in the box:

10
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T LA ®h
HSTHT
ToSY, GATUG:, ShiUShHY, S1:, foehdr:, ShIvf, shdl:, Hod goaf<d, SHEHR:,
FfereR ™, ITeh-SATIURY <9
YT
For blind candidates only
‘g1 -eraure ol 3fa fawem rfusrer Serdd TeareRnt e werEae
Hoqol <l 2x5 |10

‘TR -3V i 39 fava W Eehd o Ui oo fafau) wee & fae geem

& T 7

Write five sentences in Sanskrit on * ¥Teh—3TTqUREA aﬂﬁ'{' you can take help from the

words given in the box.

aWal (aWal

fafaen: smeRt: - 9cAvg:, 3AehH, e, fufve:, wlifd, wifasd, Ig=rh:
I A

oS 3R : Shd, faehdR:, SHMM HHE:, Hhiciead, 3=d: Agdi<, dfgel

qfH:, SaEad: eIl
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@ug : ‘M’ Section C 30 3TgT:

A TAT A -AThTTTH
HTITHR STHTTT
Applied Grammar
TH. sl
6. | orEnfaRady SRy TETERUET |l /afuafawss Fam UA: Juiaes forad 1x3
I fore arRl | wfenar ue H wie/afufassg sk g 31 fod
Join/Disjoin sandhi's in the bold words and rewrite the sentence.
() o + A TemE: fasan: fa=f=
(ii) STgercerl A aq + e dfeed: 7 hd:l
(iii) 79 AR AR g qeid|
7. | orenfafEay SRy WeneRua e/ qu o1 e saegfdenrn foaa 1x4
= fod ol § ToenaRusl | fore/ame ek Saegfs | fore
Join/Disjoin compounds in bold typed words in the following sentences and rewrite
them
(i) Femefed s Fel
(i) YURR: =k AT FHeAd|
(iii) 9: TRl FHER w1 FEaisid
(iv) Taf=r: ;931 €|
8. | oTNfiREdY AR HISHITIAM U Uepfayerd farsi=el/ At J: fer@dl 1x5

= fore T ARl | HitSsh o ST UR1 ol YR iqucad fadsH/Aan w44 fafau)

Rewrite the following words by adding/disjoining suffixes to the roots/words given in
the bracket.

() §: Aeeh (emT:) g&-: 9afd

(ii) ATl TR (SfagM™+3eh) TN |i|
(i) J9: (Fgagst) 3T

(iv) TFIE: (FI+E) W 7 IR

(v) (WmuiEn) f& T gepfa:
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10.

arehfeafeay areRy sfea-sreraue: faaeamrt wiaer o= fea vax10
(ST = 314 Yg)

frefafaa sl o 3faa s v’ 9 Reaeam &t gfd tes q4: fafag
(3=l e e @ T ?)

Rewrite the following sentences after filling in the blanks with suitable indeclinables.

(List of words is given below)

(i) “f: q TR TH ZOTGEE (1) eereerreerierrennes |

(i) 92 G THATIRR (2)everrerrrinrions Toh 9 geafdl
(i) e SFFR T (3) e, ElEREE
(iv) 3T TR (4) v Ik : T

(V) 38 AT (5)eeereerrvrrnrrennee S foettad =
(Vi) AT STTHT (6).rverreerrerrennns feqa|

HeSTAT

de, Q:-GA:, T, dEq, 19, =d, TF, U, @, o
efefad Hare areargar RereemrtT qaa 1x3

sHfafad Hag H areargar Reaeem gfd s

Fillin the blanks in the following dialogue and write the answers in the answersheet only:

LIk — A ()., Al
g 1 P 1 = X< E (1) TR ?
LIEK S S GRS B RIES

g - qd: d; T wisaft<?

LIk S (s F3 (11) T, A T2 |
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11.

12,

12,

faeetta: witerar sraret TR AT A UGG 3fa Al wwaErRtt
wfoaEEET 1x4
foelt O TEa™ S Al et TN e, HEl TEeudl €, THIdion & SER ford

Indicate the time as shown in the following schedule in sanskrit words in the
answersheet.

() TaTeEr TRAYE 9rd: (6.15) deA feeedid: wide R gfd T=sfal

(i) 91d: (7.30) SR A
(i) 91z (10.00) Tanferr 3fd T wafal
(iv) (11.45) TEA AIETTR JTEAI |

TENfeAEa STt (3T T4 ) TRhaEE a9 Wi o foraa x4
sifafad sl ol STl oF M W GShqeeass foaReol g/ QU &k JH:
fafee

Write numerical Sanskrit adjectives in place of figures in the following sentences.

Td: Shicl YHUME 378 aifeshl T=aHl a5 (49) STHgel: A<l SEhagamn (76)
geql: o = (11) Tragen: 9 = foema: (1) fUoe: el

g T asd arateny shveM SIYEd: US| Ardl UMY sheal aTeRIT
q7: for@a - 1x4

T sl & Ao & $o o1gfedl 8 T ¥ 3% "k St 9 qA: fafan

Correct the following sentences and re-write them in the answer sheet.

U W foRIer THIRYI-gRY wherl: el fohcheufaAifitar siveaq foh @ gwI?

JEU: Y, T 3TeH AT T WA STavE)
20 PR B E R B2 G e R I |

TEU:  ITEUI) WHIGY HEE: Shigehl: IAEHM: T HEA|

159




@ug : ¥ (Section D) 35 3Tz

ufed raarey (ufed Iraeier )
Reading Comprehension
LA gl 3k
14.| orefaifEd RN, ey, TEAY o UfS@l USHUHH STl STyt
foraa
frefafed werer, geer den e & Yt K M gl & I STt |
fafen

Read the following prose, poetry and drama passages and answer the given ques-
tions in the answer sheet.

(31)| T T AAGT A HalGdl: HUA: G IEe - ‘9N forfheq s=Ad? A 9
I fog@ stiesan aR-Taek-hoa-she-Sahen Hefsd: |’ Taegen
I Jerafd: TIgeH IeKar - AR JIH 3T @& FuRums 7 SRiC]
3 g o Tesial’

1Y AR 31ef 9 He Jre Herd Uforwifa drerd Yuehnul stefsaferdenTsed difea:|
FUTYER: AY: dfEd TeacadHIRY: fehetem e gfawfa SeesTar = qq
a3l o Tt wefad: qoiy afesaret: afer:|

I
Tehued SUd| 1x2 |1

Th 5 H IW Y
Answer in one word.

| GURRU HY: ohq difed:?
I. SF: RIS ITARTH IR a9 T 7 gosf<d &2

I | YuiaEeRs STl 1x2 |2

qof A § IW e
Answer in a complete sentence.

| 37T I Tl qrea=i?
I. oIy afgsaren: e FHfcerd:?
N | =Erdem STl Vox4 |2

Answer as directed.
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(i) afeT STeaeamE: IRR: st foeroomg fhg?
(i) ‘o’ 3 vewm R wataes Tene w2
(iii))  gferetfa’ sfa foramaee wqus Tememq faen foeml

(iv) ' Te e’ s TR faudareey =ssn fawn foeml

(3m)| eI

AFIZEAN ol AT TR |

T HIY FeRRo T aRgEd |
H9AT:

Tehuee STl 1ox2
T ] | I i)

Answer in one word.
(i) H= G RIS QG2
(i) Sda T o T aReEa?

I | YuiaEeRs SOl 2x1
qufareR § W I

Answer in a complete sentence.

FIG: HAT W T IRGTA?

N | aenfEy Swal Yox4
Answer as directed.

(i) ‘fapa: wafa' s vaes ff o8 ggaay?

(ii) TR 3 wew fawdideis fam?

(iii)* &rfer T e weA: favreres fRy?

(iv) TIRIq Tk, TR T fored|

(3)| ez
EREE I BEat femfsaemye™: Qe Taiea gfi: 390 o1: RuTa:| IfaT
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Y YA TE: Yol foqen =9 o o Ees| aHied g
3 Hd: WAl g 9gfg: A 9 WA "ed gdiaH
S[SUAERUM JoF T8 YS9 oholdl Uepid: Ta 7 fafaen #1ea =9

Yogd FERfd: 31ful
wd LG L U
G 3T TR TSEHT 12
eI SR 3T YR TSI |
BRIt HRIH| TSI <hif YH@IH SASiferh] — HIEMAT?
ERCRIIEENL FHft: Freushan argmg <9 T ygEit sTSifawmEmeE
4. AR 3T YR Y@l 3al: oh 7

AR Y I 375 3Toh TH@Ea:| el S e ge ¢ S’
i 31| Taq g et id A HIR | SR STl Ay

Yot = |t e foRad|

YI-T:

TehUe Il 1ox2
TH & 3% 4 S| fog
Answer in one word only.

(i) ‘e’ sfa wd @ w=?
(ii) % FoTcushen T Emg =9 o Fg@I SAehfaharemi?

YUiaTeRd STd| 1x2
i g ° I fad
Answer the following in complete sentence.

(i) ‘e’ SESdE ygEgdten fok foh wafda?
(il) JETARTA g Tevmaare foh foh AR ?

Trdomany sl Yox4
TR o T7ER S| fad

Do as directed.
(i) ‘e T o e Sl U wE R
(ii) * sTEmITSRA 3fd ueE foaadideier ug Gererq feen foredl
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15.

16.

(iii)  forqen sEmR’ o uear: favres fh?

(iv) ‘gasf<1’ 3fa foramiee sque Hamerq foen foeal

arefefaauergee wreTdy Sugeaue: ywiaer g=: foeq 3+3
TAfafad g1 9= oh Enel i SYge Vel § e g9: fafay

Complete the explanations of the following two stanzas and re-write them in the
answer sheet:

w93 GIfonTeT:? Fatggsiyon faae

o TTIH? == Ui TR ed ||

T2 HATTIAT (i), <1 Td wifor: q&1 ua aeiisE e i ord: 94
He formaen FemN: ®ded:| add BiH-oel e T (i), qrt Tg

FfATeTH hH T (jii)....cveereeee, Joa&Tad SYIHM: ol 7 91|

e foremes =gy A1 Ted 9|

& WA @ I AEH @il
wrare:

SIREAT HOR faen @ T 799 39 HeAd| I UleH higaaHd| 3Td: T 99

[T, 7 AR | AR TR : TH (il)..oooveneneens RO TR AR
AT TH (i) v R 9 AfE|

arelfeafEauerger araar Qiaman u=: foea 1%+1%%
freafafad 2 w=Il & el i 9 ek 44: fafag

Complete and re-write the prose order renderings of the following two stanzas:
wifefd ¥ war wreh SaeTaufa|

IS wfufa faut! gemag sefa qu

R IIECT 22 P () LR ICC R R S G (1) I AR UD T
(1) YT T I S|

31 o YgeIIST A9 =R TEW:
S e EIEGIECRABRISHHAL
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17.

18.

19.

3

Elipilc D i () W <10 e L2 F (1) O 31 I T IERIEGE
3o qrqH_ =1l

@I gauata M Yoo Fod 1x4
TEfEd ISl o STMUR W YA Hifsy

Frame questions based on the underlined words

(i) 9id: 9eh: o A<

(i) oh: TR A=A HAI

(iii) AR AT A TG |
(iv) IO o I

TEATGHUTTERY, A fefaaareantT g=: wuuT foaa 15x8
HeAGhH o STIER fefafea sl i q: e § fafag
Re-write the following sentences in the sequential order.

() TS 9TIE HANHGR g gRdG: 99 T TR e afteey el

(i) TEHANE: AR SURE: W: SR (R St T &3 Hiued g

T=dl hieiH Hi-eh: Toard:|

~

(i) foaTRenE: TeEurg: SegiGT U8 SEwH Hord: ;|

(v)  TfIaR R TERATUEIERIN Jes—19ras I8 qiqar af-d: quve e
gfg A

(v) ST SHIfAdEe: e T8 Ynaa, SRS Uhhl ud watef

gieerd:|
o

(vi) T ardl g gRdfs: Afefd e STecdHed Yaviheel I

(Vi) TSl TdTaEnTe =t Tes A Tk dereR e

(viii)y Havieherel ¥4 g e ARFIGH 395 Sdf6: Harl Teo—19rad Te fareder

THSITER 1@ Emhdueri IgH o1eq fomn fama 1x3
TET o ATHR W@ifehd W&l o Y6 1Y gAR feafan

Write the meanings of the underlined words suitable to the context.

381 Hafgdita
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(i) =T, (ii) SOT (i) e,

¢ T stffaatal

(i) erfereRnor faafa (i) tfuenea faafa (i) foeeandifa
Heped g faferar: Fzm)

(i) Te=r=tRar: (i) foemor feqaumn: (i) faemfar:
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He Iy
Ay : TREEH

AT HRATYTITY |
STHIATSTT
fowg : Gpay (GwwuTETRay )
FHISHET 122

QUS : & - Ufed JFSTTH
R WU srgwagad 3TRa (5+10)
& | - UUW : IS 50 yeEunfEa: (5)

quiigT: 100

TS : 3T T-ThR: STuferd-STroT AFESA: ST AATT:
UH. RS 3h
| | qeFeiy- ST : (i) TR 12
TR THIRA STH (i) wHfeREr=m 12
|
| | dewE- SENES () FRTIES
TRy PUEIEDE SRR ARAYfH:
I TEA: ¥ WAl
(i) ‘Tirdrestter:” sfd
FfEFIEE P
Rl Aed-
Q&R 9T
(314 35 : YsaeaH
TheoT o7 oTg:
ERIELRRIER) 2
| wifteha- () hgusEH () RfoRW: 12
Titerure (i) fosmorerEy (i) SAfaufEsH 12
(iii) foodiareierag- (i) ufas: 1/2
EREL
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(iv) AR TR - (iv) STEATAq 12
CE 2
2 | fedt: oT9=8%: 80-100 IERURHA: 10
hlg:  SevdaH T-THhR: sufera-3TfT SIS IEA: ST AATT:
| | derey- AT (i) EoreRTIRIEH 12
e THUA IAH (i) sAfafereq 1/2
SRE]|
ASA
(i) HEU 1/2
(iv) s 1/2
2
| | deEEr- foregara®. () EIEY <TeTehl:
& PUEICRE ‘afdfer: 2o wa' gfq
AT GeIh 2
EITEI RG]
(i) SIS TS
IRA TS
q ST9E: HRAA
TS Al FAM
i 2
(TnEen-3Tg: qegudierm
e g = YEedIhd) 4
| wifte-a=- () wEEYRTEEE . () A6Aued 1/2
e (i) HYIRTITH (i) = 12
(iii)  TorRoUTIE=RAY (i) e 1/2
(v) foodaeirue=am (v) ST 12
2
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(iii) AT ST
LCEP RIS T
3TFAT ST
femfy wfed
NIEET

LK PEE) 3h
IV | SRy stfdersR: () AT THIMIA,
Ao (i) TR
TN

10
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@ Ug : ‘@' - WETHGHAET

EITHERATTTUA |

5+5+10=20

TR |ve 9: e 9i=i| Yo T fafed 931 s faen fafa=ieaeem e qfd fen 9 31:

SRRt et | FfagsRedearyfdad o1: a1g: fuifa:)

G : ELEE EESEEALE STy ferd-STrRIfoT AZEGA:  SAKIIHM:
PR o 3k
3. | TeEH () T (i) TSTEAIRII: 12
=i - AN I
FHREH fererd
() @ufaw (i) FE< 1/2
fererd o=
AH
(x) <E@HH (iii) A= 12
G-
6 TEEE (V) T 12
AH
@ (iii-viii) T=9THA (i) e 12
fereerereghrt- Fererreregm (iv) W 12
Titerure (v) IEiEs: 172
(vi) T 12
(vii) T 1/2
(Viii) ST 1/2
5
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9 3Tk

TSR U YEgHIR  Raqemgftd: swfaan ufd geReaswemgfied o1: of:

Tyifia:| ST ar: HosWd: Td TRIde:

HUE JHGHER  JHgEdeT (i) huS: 1/2
RO (i) Temaforen 1/2
(i) wEm 12
(iv) STeRTTATOT 12
(V) TSgauito 12
(vi) el 12
(vii) wfas 12
(viii) e 172
(ix) e 12
x) ™ 172
5

T I Fersreviarag: | ST ge s S Joour USRIy bR qsadrey
Uiy eTuferay) gfaareem eTggd fuifiay

sredyyeeh  faseofared CIEIRREREIEL 1+1

SRIETET STRIEAS EES CIGERICHEN 1+1

ERIUERE Y e st 1+1
EAEIEIRINEIC2E 1+1
Teh: g YEALAH, 1+1
Teh: T OGN 10
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9 3Tk

AYET HEA AT

YEaHeRdM Y * wreh-3Araure-goiag’ 3fd fawad sifusdcr gsaareenf srarnt|
gfceTeR 3Tggd MuiRaq) Toh: o1g: Ysasasd Th: o YSHEIANTA

Seeegeeh S EIE TR EE NES 1+1

ElERICEIE QTR - 3TTqURE 1+1

T gea ¥fq forarm 1+1
3ferehed ST 1+1
wfigsaf-d| 1+1
(gfereTeT Teh:

T g G- ALY, Th: 37g: o WOIART)

10
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eyl Heehd Wy |

ECLUCEEERI |
( STHIFTATRIIT )
AT WUS WIHTET: ATTRTNRYENT: TUfea:

TS : 3T T-ThR: STUfara-3Tafon AFESA: ST AATT:
LA sl 3k
6. IR Wiy STITARTCHS (i) =Asfer 1

gisqul-  Reaeargfd- (i) afeern 1
U mreH |- (i) ST+ 1
hHTUTH/Af=0T :
EICIEEICE
Ao 3
7. SRy THE- Ry () v 1
qer faug: aErfga- Hfdh ™
STHIEIEHET gl (i) g9 Hfa sfa 1
qag sfa femey (iii) TR 1
T&Il T TS (iv) fofesrees: 1
4
8. | R FEw/ WHaTEEl () fa+ Sepeamg 1
dfsadeaH . aSa/9Uh (i) WferiaenT 1
TANT-TX&TOT el oATeRI— (i) FEEHa+3] 1
GRHTIR (v) ==t 1
Rerreryfa: (V) O+ 1
5
9. TRy TSI~ AT (i) 3 12
TE-TANT- AR (i) @ 12
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TH. PEE) 3k
e Ty 3fea- (iii) e 12
STTIYANOT (v) =q 12
EEEEIEEL V) 12
(vi) = 1/2
(vii) e 1/2
(viii) 1/2
(ix) 1/2
() wa: 12
10.| @iy ey (i) 1
FHHATA- STUfeTdehy (i) S 1
- - forams: (iii) rr: 1
e Rerreryfa:
11.| wfet Y () HIR WL 1
el HeEideh: (i) wefgwE 1
T w3 - (i) =wEEA |
qIg-oied T (iv) TRHGR 1
T
12.| dEEEH- g T (i) THRMETERT 12
TE-JAN- SRy d&hd- (i) weHwfd: 12
wiery e Rereer- (iii) TR 1/2
qfd: (v) Teh: 12
2
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TR ferferdy () =
Ts-fag-a=A =Ry (i)  ST9vEq
foramg yoamT-  YErfga-w_y swifg (i) e™eT:
e ENIBEEY (v)  ITEYE:
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afar @ue wd yyeT: UTeHUEeRy WM TAETRT TeT: |

eyl GEhd Uy |
gus: ‘9’

(ufsa-sraareyg )

S : EEepL YT-Teh: arufara-stor AFESA: Ahfadm:
UE. AR 3Th
14.|(31) dfeameme- | SAfderegR (i) sriafea- 12
THIT STH HTSHA
ot (i) TEEEEA- 12
EEILIEY 1
|| gufereRA (i) AT GR-
A IRESEELIRE
HZ-BEIHAT
= | 1
(i) FUTIE: A
g ST -
IR TreReery
S AENIGIRCIENIG]
TS |9 gl
oafal e Tt
ESCRERAL| 1
Sfgsarell: Ffcerd:| 2
aifoe-a@- Il (i) feremor- (i) STSeIcIHM: 12
JART-T &0 EESCREL
(i) Tafge=- (i) e 1/2
IR -TITH
(iii) HJIR- (i) #: 12
ERRES
(iv) folaeerde- (v) 9 12
EREE 2
5
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T4 o 3Tk
13. | (1) ufedqueny- | sfdereET: () SRR 172
AR THTRA () = 1/2
1
|| qofeTeRH ElERCAE b
ITH YURM TR
= 9 A
TR 2
2
iy -a<a- |l (j)orarei- (i) IR 12
ERIUEEIE G T O R
(i) foofamem- (i) W 1/2
TRAITH
(iii) farereaus- (i) T 12
=TT
(iv) AFIUE- (iv) 3AfuA 172
=TT
2
E
(3)ufea-reaner- | STfiere: () HEE™ 1/2
- THTRA STH (i) SHSIEM, 1/2
1
l qofenerr () RfF i,
ITH g =
TSR S
| 1
(i) I[STACRUH R STEUTHCT
shelel Fepfd: Td
7 fafaen waEw
= Yogd H&hid:
M| 1
2

176




UH. o 3tk
I TAYANT-() FeeaE () 399 3fa
e TGN & STRUT=e
IR 1/2
(i) faqdianeis (i) ISR 12
RESER Rk
(iii)) Torereaag- (i) ST 12
EREL
(iv) Shque=r- (iv) = 1/2
T 2
E
15.| wmEndeiyg- (i) YgAy weney () fodia: 1
e Reqeamgfd: (i) == 1
(iii) < 1
3
(i) ey ey () T 1
Reeamefd: (i) g@= 1
(i) guq 1
3
_6
16.| TETIRA (i) U= IR i)y =g 12
STIYLEuT geiieh afded (i) =hH 172
feeergfd: (i) T 12 172
(i) = T () wg=a: 1/2
vl gfgen (i) AR 1% |1/2
Reeamafd: (i) 9eq 1/2
_3
17.| oA EESERER] (i) g 1
DIV T AU (i) += 1
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UH. RS
Y (iii) o
AR (iv) &
4
g : YEITAATR - Fe AR
UG : @ YeAaTaehidgdhd
18.| ehYUlEeAShA- Y- V, IV, 1, VI 15x8
HASAIdET M I, VI, 1, VIl
SHATEIROT 4
19.| THGHEH BRSNS () wfoEm
MEARCIC faeuet: (i) foenafy
e (iii)  ST=RIge:
3
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afy : gRmEEq
Time allowed : 3 hours

Trutfa ava : 3 "ue

Gug ‘' TAfSATI-STeaETH/ TSN ey

Section A: Unseen Reading Comprehension

Que ‘g’ : TAHS - hHAH/FAHS hd
Section B : Writing Skills

QGue ‘7' : STTUYKI-SAThLUTH/ ST R HThH ]

Section C : Applied Grammar

Gue ‘&' : Yfd-HAqaITH/ I Sd- SATaHA
Section D : Reading Comprehension

179

JUITTET: 100
Maximum Marks: 100

31féreRan 31k 100

15 AFI:

20 AgT:

30 AT:

35 A I:



Instructions:

1.

AT I =@ @uel: |i|
TH Y9 § =R E@UE R
The question paper has four sections.

Jich @UeH YR ST TR TIM SHH0 i@ am|

Y WEUS o I Ueh B S8 W A ¥ faes il
The answers to each section must be written at one place.

gfaEuer I gefeh Y™ STGRAeh Al @ |

Ui WUE o SR Y <t T SWyfEet | & fern 2

The answers have to be written in a separate answer sheet.

U ST T G|

JeTS T I 7 ford|
Don’t write answers in the question paper.

TITHEA ARTHAITHIRH SHAIHA I =T |

JYIS oF TR YIHEA e & faeH gri
Please write the question no. according to the question paper.

AWl YYAAM A FEhad @l

[t gl o I F&Ra H fafau)

Answer all the questions in Sanskrit.
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©ug : % Section A 15 3TgT:

AUfSAIIT-ATqaTeA Y ( AATSATIT-STTEATE )
Unseen Reading Comprehension
T sl
1. | SreifefEq-3TrIwsdgd Ule@l UEAyy YA -UEram ST RAehTa 3T -

fAfafad 391 sTI=sal &l 9gahY T T Yo oF S guep &t T8 STRYRKHRT |
fafea

Read the following two passages and answer the questions in the given answer
sheet.

ERLE 34':1@?(:

Sfe A fastaereran: gem @af) faf=day derer =gAifuss wafa ) dor
FAYIRINT: J PAMY T Hald TerHa a1, |, Th==qon, ggafaron =1 groriied:
Hifaar | WafE: @ S Yfed: o9y 9afd fd: a1vdl: 9ad: STavaHd
ol R FRedwyerds afasrs s Teafa Iodd Sidd aq 9wl Saeq |
A q ofaca|

qIAm:

THUEA Yox2

Th 5 H IW Y
Answer in one word only.

(i) H&: FIH: FAATIHT (& ?
(ii) fosraaswn: gum |aE fRq?
l{uiauaa:q 37ld 1x2

T g | I i
Answer in complete sentence.

(i) oheT oo : S e1f?

(ii) for T wfay?

Frdomgery sa Ysx4
fder & SaR S fod

Do as directed

(i) ‘e e’ =Y =R fh 1] wgE?

(ii) ‘ dore STeTaehi: g pafy 7 Jafa' ifer arR ‘ wafa’ 3fa feraries wqug frq?
(iiii) STT=_Iq TehH 3199us Tocen fer@d

(iv) * steifian’ =fq ueea foadianedss ugq s{=serq fomn foreq
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w4,

feda: 31'1@3:

wieren: fefa erfafafesnfon swafa gen-gen whemsa: wiq stenfa qen-qda
DT gE2Ia: Iefd| et Jaen: SR Jaust T g | i 7 fsa smafa
9 9 B3d URMIg e, gqasfy SRepueRul AYEdl heifeq e fow
ST Ydlad heifoed =) Afash: qae qIagHd: T Ydiad| 9 ohda

BT, 31fag qor STHHERmY e Tagelt ud wafd, 9t I S 391 Haf
U YIFTIq T UfSded A haif-d, shafrn araar: fasf<a gef qrgasnd fan
e qioh GG 319 YR =1y peifal  Gelen e qdemefy w—i
3Td: Ta: To B Toe HIOMH, qee o THENTAN Gordl: oo Ty Tee Wl
ECIES

YIHT: -

ThUSA 3TA Yoxd)
Th B TR H IW fad]
Answer in one word only.

(i) : G AT TdFd?
(ii) BE: T YERT: TIYKT Tt ?

(i) ¥ g Fpafa o e o i?

(iv) T8ern: feafe gt waf<?

l{uiauaa:q STd 2x2
qof g ¥ IW ford
Answer in a complete sentence.

(i) 3TE1: BE1: U YW @ R TR i<
(ii) TRt (Wiemehrer) & fob wafa?

TSI STA Yox4
&9 o S8R SW fad

Do as directed

(iy ‘smanfa’ fa foramuesr wdusy eTg=sad faen fawd

(ii) ‘7o ST HEREM o quH 3fd FeAmug Sh: T ?
(iii)) e AU’ ot fawrerus foRy?

(iv)'d’ =fd wee faudiareies 'y eTf=serq fawn fawal
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w4,

LESl

I AT FHd FHfod ek fered|
T STI=E] hl Yg gyfad v fad|

Give a suitable title to the paragraph.
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Qus: 9

Section B 20 ITgT:

TS ShTaq

TTATHSG HE
Writing Skill
w4, v
3. | W @E g

Ted: M WeW: BEAM 9 9o ggfdl STel-STAR-TeReie ffererasrd Ty
Teafal ergwoned fuek wfa fefed oo s ged: Sfadwss: e Swyfasar 3t
for@d| STTYekT M| 9&rd @ 3R 3119 SEed § ®d 21 s I & fou STe- T
1 TEET i TEA % fou s =Ed € eF Sen @ fore fra o fa e et
T3 i HoW # U T 3fea =Rl % g quiek O @1 gH: Syt | fafag)

You are Saksham and stay in a hostel. You want to visit Ajanta Allora in an educational
trip. Fill in the blanks in the following letter written to your father for sending money.

Select appropriate words from the given box.

5
22, (‘I"IM"{ BIEIEIESK
1

22.9.2006

el gorHiH |

afed ——-—- 3ommmm- I HE ATRT TS T WA T - -4 - YN
A | SMEHT-—-5-—-318 & 7 JNHH, Id: T The:--—-6----Ja=4:
Hd:| TH TS CARRRM I8 STRifSiar i) ammeaned-———7--——& @il

HIEF - ———9———-
Sl &7 |
S, Frmt, fe:, P
Siferehaman:, v, 330 ST
difelehldid:, IREFehEl, | | —————- 10=————
ST, STRYTOT, fageeTen:
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w4,

LCICIGICE DY
TSR[HTIE U [FIHE IATAT ShivTeRTaT: Haar Wiaer u=: foraa 1x5
ool ¥ & T dfaddl st g § fEfafad 9ag | SRt oF Ul il wRehT

Harg gH: fefed

Complete the dialogues of KANIKA with the help of sentences given in the box and
re-write the same in your answer-sheet.

EILET]

iR

EINED
EACEd

A : S&faen! ST g WSHER™:| UId: U9 &hd: fa? foeaef @ fasm
T HU?

SHfUTeh! 318 q WA RIS ITFH TT=9H ad: Td STy
(i)
T IUBIVRE: T UROT § oA STfodl o Td  SEeeeed
Yd: YHURY STeER: Jed|

(i)
A YHIH FegargHa o YRR A79: 9 WY ¥ed:| 9 ol q STHadan
ShHierd|

(iii)
Idq: I RIel: R STHaRA: ¥afd 31d: d:eel STada hierl
(iv)

3 : WH: o9: Iq UI: WHOW q SXeiad: SAW: shivid: aerTd ayaot
HATUM: SH1: MY JGTeAd Ageat=<l

(v)
IN9H ¥9: 3 |8 TI Yid: YO afersnd: |

() 9A: YHUE 3TH: Sh: CH:?

(i) R UId: YHIH EEIAATIRE Thedd ?

(i) @ g " Ao Ay Iifed | Y9 IR STeHMY Wid: dHuE TifHenty|

(v) Tormef graecema guonef Teefa? faemeafcty g ue: sfaem: @l s’E g
318 Il fAgl +HUfh|

() e T smaeen wivmr?

HeSTAT
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w4,

LESl

AY: I TOAH YA TSl YSTYIeE -HE&aal TSoIaarIT ST Raehrard
foraa

I @ T fom W suia 9= At SR W H o fataw) 2x5

Describe the following picture in five sentences with the help of words given in the
box.

SUSTE, 2Afehi, SUFTTERH, shigeh:, T, ST AT, IRy, Hafd, STaf<er,

LI

10
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HAA TAGE:
hael TR % T

For blind candidates only

‘qfanr we w3 T sifiered Gshde Tesarent forad| Serar Hes[w S|

‘qfanr ge y9um’ 39 fava | Sed o ure o fafen) gerar & fau weemn § e 2l

Write five sentences in Sanskrit on ‘ 9RaR ¥ 99U’ you can take help from the words given in the
box.

HRTHT
e a1, A1, AR, 9T Ths SHE- A0, STeH HE IS,

o o

fafcicen W q Mo, T,  AH<YSH HARSSIh Y
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g ug : M’ Section C 30 3TgT:

T TAI A -AThITTH
ATII A AThI0T
Applied Grammar

TH. U9

6. | SreNffEaegegRuay Aieafaws Afe FHar YA: quiae faad 1x3
I fore areril # wepener wsi ¥ wiufasseafy sk am 1@: fafae
Disjoin/Join sandhi's in the bold words and rewrite the sentence.
(i) voitan f& gfe: + Tl
(i) TrEmsE: Al =y Jadm|
(iii) AT BT TOOIH 319

7. | oreifeRacy areRly WeTeRuai R / WHIE o Shel STYRdeREl for@d 1x4
= fore ol § TeneRusl | faue/amE wieh Swigfaet | fafay
Join/Disjoin compounds in bold typed words in the following sentences and
rewrite it 1x4
() qF: TgEn: Y q9: HAf|
(i) TITA hhRS A hifcher: 3T Toord |
(iii) IgHA: F&: T M|
(iv) T 2a? STehrH|

8. | oTeNfefEdy STy HRIBHIAMT UaTl Jepiaued fawwa,/ag= fartad 1x5

e ford T SRl B SIS oF S Ul oF Fenfauer fas/adn o e w9 fafan)

Rewrite the following words by Joining/disjoining suffixes to the roots/words.

(i) SgFmiom (Fmifseh) SR Al
(i) (SRt + 377) foaer: At

(iii) fogra: T (FgeA=<:) Tehifadr:|

(iv) FIh: TE: TR (| + IR
(v) 3T@N (ST + o + 2Y) T W
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TH. gl

9. | arenfafed s Sfom-sremmme: famwem ity wirer = foma 15x10
(TSI el 318 Yl)
Fefafead ST=ss H 3foa =g 1R 9 Raaee &t gfd &k 44: fafag
(sl B g A" § TR R)
Rewrite the following sentences after filling in the blanks with suitable indeclinables.
(List of words are given below)
[0 YT 31eTeh foranerd Wkt Tt SA9ad (ii).....oooeeee. TETTRY A Jguof
gfd ==l FaTl KA TR (i), fer=Iron | 3T
LI 31 (1Y) N TR 7 YOI
® TR (V).ooooverreerens ;ST |
LIRS (G W (77) R ST (Vi) oo TR FER STeReony shedeay
o ‘+YgEl ARG LA IEREHTATT T (Viii).....oo.o.oe... g’ sfa =

HH|

o I GHY STAYLG: (iX)ervverrrrnnens Ezuipll
JATGRURETO SASITRONY Hatemernt afeeshiy fafaen (x)........co.c....... T
ST e, &, U, afeg:, I9Fd:, WERY, |, 99, AfY, 3fd

10.| renfafad Haey arerEry sfoqaue: wiber g faeq

srfifafad Hag &1 ared o STER 3fud 98 ¥ W g fod

Fill in the blanks in the following dialogue and write the answers in the answer sheet
only:

sTE: - e SAfET 9ER We wd gEd sAfverstl

ToE: - FEH, @ IR (i), |

S - WARTIR (i), T fora=l

[EE: - 3T, HEI  §E Wesdl Hei|

T - oI SFed e Iq g g S strevEeRe)
[ - R & C L (17) I Tded Temafasam:
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w4,

LESl

11.

12,

13.

Terencrerar TorTee weET: WU 29: | shidares T wufawfa sfa Hepn foraa 1x4
faaer o FEAUee W e #1 THa K T ?) e a9 0§ aw Sehd o

farfee

Indicate the time for examination as shown on School's Notice Board in Sanskrit
Words.

TA: 9.45  BETE (I)eveeerrieeenn, TteTeRs SUTer: Afasaf|

TA: 10.00  (ii)eerreeeeennee. TRiemehel gfafte: STRyfen faaw =

121 P 1028 KT (17) JOURRR 3T e - faaRer wfasAfa

A 1030 (iV)eerrerererennes e R AiaeAafa ard-Tsmaey 9 wEwr 9ot
TG, AT ITFT T AERAH ST AN IT&d 1ox4

ffafea ol | Tgl o T W H&hd o deEaEs foumn fafay

Write numerical Sanskrit adjectives in place of figures in the following sentences.

TH & FHY 3.ecvvveenrrnenne TROTATEAT: T T Leveorrvvenrresensvennns RO STt
3IHEq| IR SR 300 erveerieenns TIART: 45erieerirrerrennns SIeAehl: & AN
UEGER(

A EaareRTl WYeM el araT Uq: foaa 1x4

fAfafEa sl 1 |9 ek ol i gq: fafan

Correct the following sentences and re-write them in the answer sheet.

T o grau-fifote STeHY 9[: 05 1 §%hdT T8 TER JE90H SThH|
TH HEA: o dfciehl: 5 STRT=S| STEHeh foaren: ofdia aran: eTefql
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Qug g

(Section D) 35 3Tz
fsda-raaey (ufeda raare )
Reading Comprehension

LK U9

14,| oTeNfefEd TENyl, U=NYT, EAYT o UfST JEAUYAATT ITRUT I eAehTa
foraa
frefafed werer, geer deon e & Yt K T gl & I STt |
fefan
Read the following prose, poetry and drama passages and answer the given
guestions in the answer sheet.

. | TR

Ui wd fommata afd 7w sesiiea aifarg <anfuafa: ek : TeRaes s €9 aRibE
T : STIRd-8 TS Wed: IS Aehvd STenf-ad: HaaHas Sraste| 2
o-wfer-aRmueayfud SFTd Tad hufie Teee Feggi:| T Joa—Hier! HaHrRel
R AN TR hgH FoaiH| enfeyaar, f& swwenfor? fou: sam=-afg yar
Uid:, 91 ©d: Thed Igu: IAH 3oSlH 349 79 dlekdrnn Hafer woq) adq gon st
siferarq,  <ieh TI&IRIH SRRHa | TTH 3331 S 359 3T ATdeh: ohAIy 9Rd: w)
srean qag M| fF g famaea’ sfa foamd aen st - o figsn e =,
318 Wod JyggaHa gFeeiy sl U9 A% e frved Fren stEen: fawoom: e
3TEEA - WENIS! ST Udadl TREeH, Jd o Hd S|

QT

THUEA Yox2
Th 5 H IW Y
Answer in one word.

| ek T gehtn?

I. TToh: &I SHARAM Feoll ATd:?

JUiaTeRE STd| 1x2
qof A § IW e
Answer in a complete sentence.

. 1 TRl REHAIERS T SHE?
I. 7T formely formuom: s1vea?
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FreymaR, 3w
e & oT7ER W i)

Do as directed .

(i) ‘vm Sremann Trefen waq’ o ‘Tm’ WA UE e W2
(i) ‘ geon' =fd 9w wat-ug e fuen foed

(iii) ' sF1q 3fa 9" g fomores Teneq fewn foreml
(iv) ‘ 31eqq’ sfq yee foaqdiaiefss g e foen foea)
TEITIT:

G HETER! HAl gfHUE <o)

A q i<, A T TR

TehUe STdl

T I H IW 9T
Answer in one word.

(i) ¥F: M TRN?

(i) ‘weTEmEn’ 3fa wufaan & grEed?
quigreRs ITHA|
qufere § IW T
Answer in a complete sentence.

(i) F: SigeM 3E?

(i) T: e TefihH IR ?
FreymaR, 3w
e & 3ER S e

Do as directed.

(i) ‘o= el wfeaq’ sfa ety gumede: fob us wansr ygeaq?

(i) ‘erd’ fa foramags fo ohchqq\?
(iii) ST 3f weE fadaedss w8 faen fora)

Yox4

Yox2

1x2

Yox4
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w4,

LESl

(3

(iv) 79" 3fd T g fRmfy favmoreg fewn foeml
RICCINE
Feh: (Ufawa, Tohlem) of: fohe et 9adt? A 318 oot afd e i

h1geN:? AETgRaed Jui: Hige:? ! 318  STd HdAqUAU:| YA ‘<A1 1’ LAl
I JEE g = fafEsEny)

RE LR g form? waq e q pagpersty sl

FTeh: (foeea) Fagpe:| 3R 7T Fd: Fapel: TRY| ST/HT T FaH:|

REEEE ;o areTen) Wi w2 Faftn: SHSTRen o= g Aty |
FUM|

HTh: IR H wEe:| R T Ee Tl feeren sterdty, S

foores smmHend Heenl weAf<l| foh SgAll 31@H { TAERl: HAyE: Iq Al R
FHeAfd - * ST IR < hieh: QA" TERH TR T STTHIGH| T SEehISTH
BEANM Fd AR THI fF T gd Fhael, THAF............

TR E: o fom spral aq s: Tdw1 e 99 fawd

HhSH TH IS hloaT,

TR AfE <ol

Tohehual Uford HofT,

i 1Rl 7 q Toed: |
9o

TRUST 15x2
Tsh & I ¥ W fafan
Answer in one word only.

(i) ohoTH TR STHHSH?
(i) TR Teedl foh wmufamn greruafa?
quiaTeRs 3a%d 1x2

i o ° I fad

Answer the following in one sentence.
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15.

16.

() TR RRE 6 Femf?

(i) TR 99 o w2

Freymany, swa Yox4)
=R o TR SW fa@

Do as directed.

(i) ‘whgfa: wafrd:’ sfa el uea: fop ug fasioomaee?

(ii) ‘ST mer Tad qa famd’ o ‘qa’ 3 uE e w2
(iii) ' TR’ Tl ok T gumIefeh 98 w2

(iv) ‘gfaar: waf<' sfa e faadiareiess 18 HarRe o foadal

N

reifeafaauerge werdy Sugeaus: wiger g foea 3+3
Tfafad g1 9= oF Enel i SYge Vel § e gH: fafay

Complete the explanations of the following two stanzas and re-write them in the
answer sheet:

A gdid 99, A GHETes |

=T YT Al AT shaa IReeRid|

orae:
Sfteq ga@n @ = =ehad gierd=dl T A T (i) o e ot
(1) I T ohac faerd HAT T2 (i), g ad |: FIg i A
AT

T FARNR T3 TWHS T99d |

HHI: IRV TSty e A fdll

aranef:

TR M T8 A9y e g = Hoiam| aal 7§ A< T8H7 (). TRHTE
g & AR (i) BIESTEEI0T AT (iii)................ A Afefdl a auiae
ST SR ST |

arelfeafEauerger raar Qfaan ua: foea 1%+1%%

frafafad 2wl & ol ol U ek 44: fafag
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17.

18.

Complete and re-write the prose order renderings of the following two stanzas:

NIEENILEES IS EESIREES B S
eI HagIsTreh qi=iry |-y foramq

L LA () I AT FART IRET (i), e~ TS Hagl WiEH

sTachal a1 fod den arfte 9ag_ 4af<|
qeellg: HETCHT: FHHI qeId: ||

SIEE DN

TErfgauattt sty wya-fmiu gea 1x4
afgd 9sf o SMUR W yeA fior sifse

Frame questions based on the underlines words.

(i) I TRRT: HEYLH SHUMTHAYRY TIRTf|

(ii) SIETT: 3TY: I SEifon|

(i) T AT q&:|

(iv) ors1: ST=miq 9eH TR |

TEATGHATTERY, AN feAfaaaraantt J=: sHuT foad 15%8
SeAThH oF TER f=fafad amerei ot g1: o 9 fafag

Re-write the following sentences in the sequential order.

(i) TSR HUAH @l TS SR SUER: o]

(i) IR STaETAraHYY T fSgiqy: d49: Jemy gfaerdl

(iii) ST, STESTT &0 T Tsfoery Wefara)

(iv) guehR: Ticd aifed A9 goean Igy: i WIS aH ST
(V) THESE P Ty e st @)

(vi) STeffar: srefy: qesHYeen: 3fa fa=md woa: ggeraraq stpa)
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(vii) IFR1: AR § YER 9 STl
(viii) UehR: eTefsafctashrsa daifed: AW STvaeen Wiasw|
19.| viETm d: WE Ue feRgam 1ox6

W5 T 37 o 1Y Held Hifteg

Match the following meaning with the words :

qug: ‘o1’ gus: ‘9’
() forfie (%) T@HEq
(i)  staRom (@) W™
(iii)  forefr (M) e
(v) o (9) W= HGH
v) AT (5) famw
(vi)  ¥mRIgH (F) A
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aastaRauyTaay ||

RIS
fawa : depaq (EwwoTETRa )
e 9T
sty : gREE,
@US : & - IUfSA-STETETY
AT @Ue T=sagay 3Tf (5+10)

EI—W:H’@@'&:SOW‘&W:(S)

HISHEST 122
quiigT: 100

S : EEepL Y-Teh: arufara-stor AFESA: Ahfadm:
T4 AR 3tk
| GEZEICE FAfceTeR: (i) @ 12
e THIA ST (i) @ 1/2
|
I LEZEICE T (i) I, WS,
R FUEIEZE] feprerom, aqafaror
A EIRIMNIESE
wifhar st
(i) T A W
T g wfera
3fd 9 hfoaq |
(37 ofh: Y[Ga- 2
T 3f: 3eh:
= YEadIEd)
i aifeha@- () FHMIRE- (i)  Yerufrn 12
Brtmey EEERELE
(i) FYIETITH (i) TeTARIST: 1/2
(iii) sTEEYR=EH (i) q, FA, 12
AN, 9, T
geIfeeh
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(iv) faudiaeferas- (iv) e 172

|Ul| o

2 [31) fgda: Tg=s=: 80-100 VeRURMHA:

~
—
S

N

TS : EEtuny T-YhR: STUfera-3Tqfon AgUgd:  SAgfaym:

| qea- FrfeTea: () AfaTh: 172
e THTA (i) o 12
(i) e 172
(iv) SAfafaf=sror 1/2

I qeE- foregaray () STE: BE:

Titerur (quUTaTeRA) THR GRET
g gfeds
AATY pelf~d, Hel
ey fassi,
T qr3TehH afac
ELEIGE EIET M
IR A 1+1 |2
TRy =fa et

(i) efErhrel 7 g

A, 7 = &<
HRFIg oI, Jasfa
= YRIE YR T Fd | 1+1 |2
A Teh: Ag;: WWW Ueh: HAg: o
RECREIE

|-l>|
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TH. PEE) 3k
l qeh-Tea- AT (i) FguaaaTy (i) THeTmeT: 1/2
ERILSE T (ii) TR (i) BEE: 12
GA-TAM:
(iii) ENEREECRELY i) oden 172
(iv) foradiareierue=am  (iv) & 12
2
IV | sfdeusEe  stfdersR: BLESICAGEY
e B
e : T/
Bl D
YL A=A
fehfoad IEgTIER
Sfeasidey 2
2
E
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AT ||

T Ug : ‘@' - TEATEHGHAET

AMEITHERATTTITH ||

5+5+10=20

SR @ve F4: e 9fl g g fafad 93 wespurd: faen fafa-Reaasamm gfd sen oo 31 :

SRRt et | SfagsRedeamyfdad o1d: a1g: fuifa:)

TG : ELtuy Je-hN: sTdfaa-3aafo IgHgd:  SIRIIHN:
UE. AR 3Th
3. | e RESIGAREING
AoaiirsE- o Ui q= 1. HIfCThTaM: s
qREo |
HEIYTIRH, 2. fagqmeTam Y
TAYTH 9. foag: Y
EEIEE]]
g g+
EERCET DR 10. S=TETRH Y 2
T U a
WA W
REISICE] RIS 3. fragatd s
ferorrereg - [EEREISEIRE 4. AU Vs
CIERNEL Y (Taaearyfd:) 5. INGAHRMA Y
6. Vfersmammn Yy
7. UeERIaH Vs
8. WA Yy 3
5

T I3 USIHaR HHgehen R yft: stufaan o yeaReaee i |f<|

gfaeeReaem e ftied Tan: 31g: Fuifia: saEga: dssum: @ U= -

Rereergfd:

formef raezema gwomef

o
EREIREaL

FFIGARTII &0

Tesfa? fommerafey

q 9rd: Sfasem: Tl
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A LA 3k
3@ g 8 a=sl g
FHAMH
(i) Y TG AT 1
FHTd?
(iii) foraeiy T SgdEen 1
shferar?
(iv) JAUHETE 3T 1
6 97
() @G HA T A 1
IHiferd| vol: SR
e JadHIT
TEeta| 5
5. W U foeeviereg: | AR 9o o geeen HesuHl TSRS HIeE YsaeeRy
Uiy eTuferay) gfaareem eTged fFuiftan)
STEEeeh IEECLEIC] SIEINRERELEL) 5x2 |10

TERIEEE SR
FARTII 0T

SES CIGHIN AR

Tarcan aratoT
HiTf|

(IsgaTRI,

e Teh:

3Tg: dee,

Ueh: 3Hg: HMHI-
peipl
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YEadehdr SNfHe aRanr w8 wwoE 3fd fawd geu-areeET sTufia)

CCCILECE]
ARG~
JARTI &0

TR

TTAT (hae TR )

B YEIRH-

e AT
gt

(TodereRIT GfdeeH Teh:

3Tg: dee,
Teh: A :
TTITIHTE )

5%2

S

10
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Qug : T

ST @Ue |9l ATTRIRR AN STufer:
S EEepL YIT-Teh: arufara-stor AESA: AR fadm:
UH. RS 3h
6. | Ry Wiy  sTwANTHe: (i) e 1
qf-eeg Reeamgfd- (i) fse: 1
TReTor e wfe- (i) T+ 1
LU/ U=8R :
o1 AR :
AT 3
7. qRY R - 9y (i) STEH 1
e fawE: YErtgd- (i) oheRTE: To 1
FHAER LRIl (iii) ETHeN 1
qag 3fd IEDERY I | (I472)
Tl THUH, HHEAH (v) ¥ &rEm 1
4
8 | aRY FIw  wHfawERR () TES+IE 1
af gagcaT LRI EDET (i) SRIfA: 1
YAN-GHEOH kel aR- (ji) ST 1
HRHITIR (iv) Yeroftar: 1
eeamgfd:  (v) s=e 1
El
9. | CTRY FEE-  SHUh: 0 @ 1/2
RESERIE SR ek (iy @ 1/1
BRI WAy 3faa- (i) WERY 1/2
SEpEpIN| (iv) dfg: 12
CICYRISEY (V) S9Fd: 12
(vi) @ 12
(vii) sfa 12
(viii) AT 12
(x) =g 12
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UH. o 3tk
IEE 12
El
10.| HaR areA-wEn  Reaeemy (i) SAfersTa 1
e STUfadeh - (i) smfoT 1
FU-frame: (i) T@m 1
Rerreermyfd:
3
11.| e geea Y OBEREISEENCIEE ] 1
ThA GHEdeh: (i) <R 1
G- w3 - (i) TUREeERE |
RRtz e T : (iv) wreEsERH 1
4
12.| HeAEEH- M WH () A 12
EESRILE IR AERa- (i) TeRT 12
Erituiy w3 Remeam- (i) Biwm 12
T (iv) ToIEwEIREN 172
2
13.| STeREEEEl ferferdy (i) SR 1
Us-Tag-—a=" =Ry (i) == 1
forean o] yam-  YEfga-wey (i) wai: 1
Titerur STIfg - FeeEy (v) Ana: 1
4
30
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gus: ‘o

( ufea-raaney )
ST Tve ol YEAT: UISAgEahH (AR 91T @ 11) HENTaeeehiom STTRa:|
S : EEepL YIT-Teh: arufara-stor AESA: AR fadm:
UH. AR 3tk
14.|(31) ufodmeme-  SAfdere: (i) =Yg 1/2
AT TehTed STH (i) T 12
EUEIESE] (i) Treh: T
ST FRrerr wifag
AR AR T 1
STIRAG
(iiy TS TR
fre= wren
ST foreuoT: 1
3T
qTftes -aa- HEIEIHEA () eRRY 1/2
qY-TlE, E-EE GELERELIR)!
ERIRECCEE = U () - e 12
foRrouTE=y (i)  fowfrarmrea-
e/ Taq, 1/2
foqdiaeierae. (v) 99 12
=TT
RICGERINS AfeTs () STARHRTIH 1/2
SR ThIA (i) 3A: 12
EUEIESE] () v9: 3HIRH 9
I = &l 1
(i) TF: ST S 1
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74 o 3teh
= Fefiehq SR 2
Afehaa-ay A - IRy () gfuey 12
Tireror AEer=hueadTd (i) T 12
EETGEECREL (iii) o 1/2
forRTUTIR =Y (v) 3w/ 12
2
BE
RICERICRINE | STfdeTs: ()  hTRMEM 12
SaraToTy THURA ITH iy TN 12
1
| T ()  \EC RRE
(qufaeRH 3ITH) Feaf<-' 3Td
SR = Hh: 1
??)IT‘U”
(i)  HTH: 99 1
‘-1’ eaf
LG REEIERIT
wHyg = fafmErsafd
2
dfehaeay () foemodE=Em () & 12
e (i) G (i) R 172
BRIEECREL
(i) "AMEeR-UR- (i) M 172
=TT
(v) faqdaefe-ug-  (v) T=fa 172
EREE 2
i
15.| wrenefeEry- () ey weney () = 1
e Rerreayfa: (iy TR 1
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R 3h
(i) ST 1
3
(i) Ig STy () ST 1
Reqeamgfd: (i) T 1
(iii) TS 1
3
TS (i) TSI == (i) STETISIEE 12
vask ufeen (i) STEIRH 12
Rereamygfd: (i) &q 12
(i) I&d == i 3 12
U Velleh Ufg@n (i) a_a 12
Rerqearyfd: (i) sfa 172
AT YEARATY (i) =1 301
HITTA-TIUE  TeTag (i) =fa 1
YA (i) @ 1
T (iv) 1
0| N AR I LR B E T 4
g : = YA aadd
dehquiEeehH-  Y&d- V, 1L IV, VI 15x8
HASAIdET M VIIL L 1, VI
EXiECIuE 4
MEADC I B o b i D () T 1/2
Tlteror g 3fad wey, (i) R 12
(iii) Teafd 172
(v) ¥ 12
() @ 12
(vi) eI Y, 172
3
E
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